Q5] A8 A T2 FoA 14A4FE AN FALT 28l
g AW 61 AN F AW 9] ¥ E 7V S AeAfe

SERETESEARY

(9" 3 th2)=12x3 =36 (A7),
SYAA 14 AFE FolonR
(&2 Ag)=36- 14 = 22 (A7),
22:14=(22+2):(14+2)=11:7
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1.6:3.4 = (1.6 X 10) : (3.4 x 10)
=(16+2):(34+2) =8:17




3. oh 2w e Aol wet BYHRE ofd HFOR 6571
e ), 7R B 9 ) Bagh

A
« 6%
53
«— 4=
ch 7H

\VARR 4
0
it

60 7}

S5 ~
B7IGRO] = Fol g wnprt 2704 Eojdy 352
1170, 252 1374, 152 15 7/H4 Yt
b, 3 et B7|UR = BE
54+7+9+11413+15=60(71) dYch.




4. THS T 2L 7o) thel BARE o Mo R A 1) 1
=0 Z7|URrt & A " Q3R] oA L.

>
> &g uA

B7IGR9] 71 2704 EojuR g
3Z2 107, 222 127], 12 1471t}




